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828 3BIRREBREBI It 23N~ SSE VG HELREE IR IPRLUCBEE SFERAES LS EB8Y

1.0

e.0
e.l

2.2‘
e.d
3.0
4.0
S.0
.1

5.2
s'a. l

5.1

s.z

RBSTRACT
gljwnalhv ! T &YEST AND ISOLATE SIMPLE MALFUNCTION
REQUIREMENTS

gt X
S

USES 0 THRU 17500

1SRN s Lowor

START

bﬂoﬁ . PRESS START. THE PROGRAM WILL LOOP
RING ON PRSS COMPLETION.

OPERATING PROCEDURE

SWITCH SETTINGS

NONE

SUBROUTINE RBSTRACTS

mxsnmn.mmmmmamm.

MY
MLT IS A HALT INSTRUCTION.

g DI T
MILL CAUSE A HALT AT VECTOR+2.

| ;9 W TRAP FA Peggrl N THE FOLLOWING ROUTINE

oF

W, D
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E o S SRS

RESTORE ALL LOCATIONS BEFORE PROCEEDING TO NEXT TEST.

7.0 ﬁllﬂl“

1
101

1 8.0 M

i é% ntét Ta'mx ro‘mgmm WILL CONTAIN THE
i i REW‘M ABOUT 1 MINUTE.

iﬁ’ . WMH INITIALLY SETS THE STACK POINTER AT SO0.

1 9.0

it SR e T T ™
1is ITIONS ARE ALSO

5%%:;%11&9245“ CORP., MAYNARD, MASS
EMBL ABS ]

000000 .=0 ; TRAP CATCHER 0 - 776

T=HALT
10701

A0

ICNT:
BEG:

R R
- -

;PRSS COUNT
;4 STRCK AT FT]
;WHICH REGISTER SET?
;ALTERNATE!

ER=2RLE 5
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;TEST 1 DIV 04/ @32 REM=s0 PS=0

SCOPE . ; 1) - 9
M. [ gooe
1 010530 MOV  3sPS,Psi :
000000 010522 80, PSH ;ISPS=0
% Eﬂ " ;PS IS HRONG
g 2,10 ;IS QUOTIENT = 2
u? 3 ;QUOTIENT IS WRONG
1114 1 000000 80, %0+1 ;1S REMAINDER = 0
ﬂg m % " sREMAINDER IS WRONG

*TEST2 DIV 09. /83 =3 REM=0 PS = 0

1 1 1
BH2 B ooy B owm U B o
11 % w 5?3 %0 5 v ”B‘"
001142 177776 017152 MOV 3PS, Psi :
gh ﬁ 000000 010444 EI'D &rsu :ISPS =0
- 001 ML :PS IS WRONG
001162 022700 000003 cHP 83, %0 < 1S QUOTIENT = 3
il [ ] .é v
miE Bl % B i
001172 022701 (000000 cHP 80, %0+1 : 1S REMAINDER = O
001176 001401 BEQ .+
001200 000000 LT :REMAINDER IS WRONG
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;1'5573 DIV -1 -4/ =-2 REN=0 PS= 10

aﬁ ﬁiﬁ 17752 Al ﬁx '.:.{;oﬂ,l | ?wwm-x
Ri520 013767 1977% 010374 RV Ses.psu

L
!@ % 000010 010366 ?B lig,l'sl .IS PS = 10
HL ;PS IS WRONG

5‘", .o;s.m ;IS QUOTIENT = -2
HL ;QUOTIENT IS WRONG
% .ﬂ“’lﬂ#l ;1S REMAINDER = 0
T "~ ;REMAINDER IS WRONG

STESTM DIV -1 -9, /83 =-3 REN=0 PS = 10

mx i 77777 v a& MITH -1
g G Bl ﬁg.;’" e
1 DIV IVl

001276 013767 1 010316 MOV aés PSW
giﬂ 000010 010310 gg-a fiE ,PSH xs PS = 10

- 001314 amﬁ " :PS IS WRONG
8&3 m 177775 % ?;g.m s IS QUOTIENT = -3
001324 000000 HLT sQUOTIENT IS WRONG
:,: 1 000000 - 80,1041 : 1S REMAINDER = O
u.? : ;REMAINDER IS WRONG
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jTESTS DIV 09. /824 REN =1 PSs0
’

ig E{% . .'%R g @éﬁx -0

%ﬁmm _ g‘ H“PSI ;ISPS=0
HT ;PS IS WRONG

g g “%ﬂ ;IS QUOTIENT = §

P u? : ;QUOTIENT IS WRONG
190N 022701 000001 g’ 81, %0+] ;IS REMAINDER = |
141 1 ' .A

gl‘l '71#' ! I'l? ;REMAINDER IS WRONG

'TEST 6 DIV =1 -9, / 82 = -4 REM = =1 PS = 10

il 2 (B
0143 ﬁ 010162 fé?m : 'é"# s

i

Y
001440 ﬂ 000010 010154 &? 810,PSH ;ISPS =10

HT .

I L

e

X
§'8

g8

;PS IS WRONG
» %0 ;IS QUOTIENT = -4
;QUOTIENT IS WRONG
, %041 ;IS REMAINDER = -1
;REMAINDER IS WRONG

43
E : 177774

=288 BRS
bbb b b bo

1 177777
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1
177776 010104
000010 010076

== P o ot fomn
B
o

B R
3

P

gh.- [y Y Y 8

[ o gt g

0o
it i
Bt BB

; HHHHH 2
sJEST 7 DIV 019, / -2 = -4 REN =1 PS s 10
’

H

B0

HLT

&9

T

5 w1
$3P P

#10,PSH
Ky

ﬁ aﬁwmo

:ISPS =10

:PS IS WRONG

+ IS QUOTIENT = -4
;QUOTIENT IS WRONG
;+ 1S REMAINDER = |
;REMAINDER IS WRONG

TEST 10 DIV 02/ 83=0 REM=2 PS = Y

B
i

BE
H

{
¢

HL

${630 HIGH ORDER WITH O
.m{w WITH 2

.
;ISPS =N

;PS IS WRONG

;1S QUOTIENT = 0
;QUOTIENT IS WRONG
; IS REMAINDER = 2
;REMAINDER IS WRONG
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iTEST11 DIV 02/ 9320 REN=2 PS= 4

B8 8 '
s

1
mwn 013767 177776 007750

%
-
=3

o' 1
%0

2 3

18
&

R
s

8 A g

DIVI

;1S PS =y

;PS IS HRONG

;IS QUOTIENT = 0
;QUOTIENT IS WRONG
; IS REMAINDER = 2

;REMAINDER IS WRONG

MOV
\S27% 000004 007742
Bl 4 iy
001 000000
it %
{67" 000002 &,
X lg HL
HTEST 12 DIV
]
i
001 177777
001716 000003 DIV
001722 17777 007672 MOV
gig 2278 000004 007664 gPs
001 O000C HL
iﬂz 022700 000000 o
0C 1% &‘% M
:;: i% ll7'81 177776 g
001 “.T

-1-2/7/783=0 REN=-2 PS=4

g l
-2
v

sISPS= 4 "
;PS IS WRONG

;IS QUOTIENT = 0
;QUOTIENT IS WRONG

; IS REMAINDER = -2

;REMAINDER IS WRONG
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STEST 13 DIV =1 -1 /8l =~ REM=0 PS = 10

g TP - Ty
RN B f T 1110 400 e
002000 013767 177776 007614 MOV  3sPS,PSN - ;SAVE PS

@ 000010 gws

ogp.,rsu ;1S PS = 10
He - :PS IS WRONG
cHP 8-1,%0 s IS QUOTIENT = -1
BEQ .
WY sQUOTIENT IS WRONG
gw ngqmﬂ : 1S REMAINDER = O
u.? ; :REMAINDER IS WRONG

STEST 14 DIV OO0/ 81 =0 REM=0 PS= 4

; I
W 80, %0 ;Eﬂ 5& % HITH O
no; ",’-g" ;L0 “aﬂm HITH O
Bﬁv Sés.rsu :
CPB  #4,PSH IS PS = 4
BEQ .+
HT :PS IS WRONG

3 T
% &zo IS QUOTIENT = 0
HLT sQUOTIENT IS WRONG
% -g‘xon ;IS REMAINDER = 0

HLT ; REMAINDER IS WRONG
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B B
Bl M

i
1
1
002154
e
002164

0021
0021

i
Riot

8
n

3
o

3t
4

K
"8

MACY1l 27(732)

:TEST 1S DIV

-
i

Jee700 1525¢S
00 14C
00000C

022701

£BY £ 7By Iy

B

§r:sr 16
’
uigrm - SCOPE
12701 :83
071027 DIV
013767 WOV
it g
1401 BEQ
000000 HLT
cHP
1401 BE
HL
022701 000001 CHP
001401 BEQ
000000

HLT

03-SEP-76 18:01 PAGE 11

-] 125252 7 82 = 152525 REM =0 PS = 10

81 .11.% R1cH ORDER WITH -1

+ JOH WITH 125252

i 00y B

10, Psu ;1S PS = 10
sPS IS WRONG

1152525, 10 ;1S QUOTIENT = 152525
sQUOTIENT IS WRONG

10, 041 ;1S REMAINDER = O

;REMAINDER IS WRONG

DIV 0 52S2S / 82 = 25252 REM =1 PS =0

sTEST OF D
GH WITH
00s8ds o1 ILORD L&. m A
82, %0 oxvm: BY 82
3sPs, PSk :SAVE PS
ngﬁrsu :ISPS=0
3 :PS IS WRONG
'ugsqasa,m : 1S QUOTIENT = 25252
’ sQUOTIENT IS WRONG
'iﬁm" ;1S REMAINDER = |1

;REMAINDER IS WRONG
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OCKBLA.P11

STEST 17 DIV -1 -1 /4-1=]1 REM=0 PS=0
’

2 Ha, g
%7 1r7rre oo7aed oV S, : ke
ﬁ 000000 007316 &n 0, PSu ;ISPS =0
H ;PS 1S HRONG
gze700 000001 - ;1S QUOTIENT = 1
000000 T JQUOTIENT 1S HRONG
1 000000 o ;15 REMAINDER = 0
w ;REMAINDER 1S WRONG
}TEST 20 DIV 25263 0 / 8125252 = 100000 REM = 0 PS = 10
’
0i2700 gasos: ROV~ 425263x0  ILOAD NIGH ORDER WITH 2523
£ B BRI
0oMG 013767 1% 007246 MOV 8PS, ;
GEp gy oo wee  gm o wgew sre
002364 000000 HT ;PS 1S HRONG
mze ﬁ 100000 CP 40000070 ;IS GUOTIENT = 100000
002374 L QUOTIENT IS WRONG
Qeary Q2e7oi 000000 gn; 40,041 ;IS REMAINDER = 0
002404 HL ;REMAINDER 1S WRONG




|
B 5

01

2525e
177776

1

G

BRI

MACY1l 27(732)

007170
007162

007112

007104

STEST 21 DIV

i

DIV
89

HL

cHP
BE
HL

o

03-SEP-76 18:01

PAGE 13

.25253 1 » 8125252 = 100000 REM = 1 PS = 10

ool IEEEE&QQ%“H"EEQ'

3 éz& gxla 8125252
?gg.rsu ;IS PS = 10
;PS IS WRONG
?igomo.m ;1S QUOTIENT = 100000
sQUOTIENT IS WRONG
?hxmx ;1S REMAINDER = 1

;REMAINDER IS WRONG

STEST 22 DIV 37777 77777 7 877777 = 77777 REM = 77776 PS = O

3 5% R §§§§§

x

.TEST OF D
s, ,5 i R ;mf'
IV
ws Péu
‘“PSI ,IS PS =0
;PS IS WRONG
7777740 s 1S QUOTIENT = 77777
;QUOTIENT IS WRONG
me.mﬂ ;IS REMRINDER = 77776

;REMAINDER IS WRONG
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;TEST 23 DIV 0 100000 7/ 82 = 40000 REN =0 PS=0

T w0 :ﬁ
, %0¢1 $
.. a.f;g'.';. &Zﬁ'
000000 (007026 gra 0, PSi ;ISPS=0
ML : ;PS IS WRONG
040000 ge  #40000,x0 ;IS GUOTIENT = 40000
T s ;QUOTIENT IS WRONG
000000 ? 80, X041 ;1S REMAINDER = 0
u.? g ;REMAINDER 1S WRONG

STEST 24 DIV 0 100001 7 82 = 40000 REM =1 PS = O
5

ﬁ i' g@:,:ﬂu :gﬂt g‘ fh 180001
1 006756 asbs, Psu ;
000000 (006750 gl;a 0, PSi ;ISPS=0
HLT " ;PS IS HRONG
040000 ge #4000, 0 ;1S QUOTIENT = 40000
n.? ¢ ;QUOTIENT IS WRONG
000001 gr 81,1041 ;1S REMAINDER = 1

n.? : :REMAINDER IS WRONG
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STEST 25 DIV 20000 37776 /

W
i
g

M

-

M

-

B
i
g

HL

o
o

o

8177777 .%0
iy
.‘;"ﬂ

$40000, X0
.

8177777, %0+
.

= Y0000 REM = PS =0
150 i
;ISFSSO
;PS IS WRONG

;IS QUOTIENT = 40000
;QUOTIENT IS WRONG
; IS REMINDER = 77776
; REMAINDER IS WRONG

¢ HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
;TEST 26 DIV 177777 77777 7 8177776 = Y0000 REM = 177777 PS = 0
o HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

%@%ﬁ%ﬂ

;ISPS=0

;PS IS WRONG

;IS QUOTIENT = 40000
;QUOTIENT IS WRONG
;IS REMRINDER = 177777
;REMAINDER IS WRONG
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SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHHHHHHH
§TES‘I‘!7 O1Iv 157777 100001 / 100000 = 40000 REM = 100001 PS =0
 SHHHEHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
’

000000 gn ;I1SPS=0
M sPS IS MRONG

040000 gr #4000, X0 ;1S QUOTIENT = 40000
a.? : sQUOTIENT IS WRONG

E' ' $100001,:041 ;1S REMAINER = 100001
n.? - sREMAINDER IS WRONG

STEST 30 DIV 052525 7/ 852525 = ) REM =0 PS =0
’

Dhi

sISPS=0

;PS IS WRONG

:IS QUOTIENT = |
;QUOTIENT IS WRONG
;IS REMAINDER = 0
;REMAINDER IS WRONG
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DCKBLA. P11

{TEST 31 DIV 0 52524 / 20 REM = 62524 PS =4
B.. § B i
0000OM  00BMOR2 gre  o,po sISPS = Y

H ;PS IS WRONG
(00000 gr 0 ;1S QUOTIENT = 0
it sQUOTIENT IS WRONG
02524 g $SXM, X041 ;1S REWINDER = 52524
§ ;REMAINDER IS WRONG
Ercsna DIV 007 812525220 REN=0 PS =Y
SCOPE Y OF D
B. B pres
000004 006324 gﬂ u;u"m ;ISPS = 4
W } sPS 1S WRONG
000000 oP 80,101 ;1S REMAINDER = O
kL ;REMAINDER 1S WRONG
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DCKBLA.PLL

{TEST 33 01V | 7 MOM2 = 1
5% HioH .
m. ¥ ﬂﬁ“ Gl B
000010 006246 ges e, P ;18 PS = 10
000000 L ;PS IS MRONG
003%0 022700 177070 CP  8177070,X0 ;IS QUOTIENT = 177070
& M E e sQUOTIENT IS WRONG
e ekt

STEST 34 DIV 0 77777 7 90 = DU REM = DUWNY PS = 3

: & ™
ﬁm Ry %ﬁif‘ 5@"%%%%

LISyK m 000003 006162 gn 83, P IS PS = 3
L u? . :PS IS WRONG

P S — e~ — .
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TEST 35 DIV 77777 177777 /7 82 = DUMMY REM = DUMMY PS = 2

VT e 6% MIGH SAOER W

Eoz :ﬁrsggwn ; *:asnux mm
gws 2,Psu ;IS PS = 2

L ‘ sPS IS WRONG

:TEST 3 DIV 04/ 82=2 REM=0 PS =0

RV w0, :ﬁ MITH 0
™, 1 i

& S re 3 *;L #

%a 0, PSH ;I1SPS=0

MY ;PS IS WRONG
2, %2 ;1S QUOTIENT = 2

S '

n.? : sQUOTIENT IS WRONG

% %241 ;1S REMAINDER = 0

;REMAINDER IS WRONG
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TEST 37 DIV 09. /83=3 REN=0 PS=0

&9

HL
cHP

BE
[ B

&

H

X2

..“Pﬂ

%

35

8

eﬂ im0

L]
4t
wy
R
"
o

;PS IS WRONG

;IS QUOTIENT = 3
;QUOTIENT IS WRONG
; IS REMAINDER = 0
;REMAINDER IS WRONG

STEST 40 DIV -l 4/ 82=-2 REM=0 PS = 10

s
%3
g

-

M

3

""501
ads
810, PSH
.

-2,
.

ﬁﬂ*l

Bt

;ISPS =10

;PS IS WRONG

;1S QUOTIENT = -2
;QUOTIENT IS WRONG
;1S REMAINDER = 0 .
;REMAINDER IS WRONG




w;ﬁm-a DIV TEST

.o
r

DOMO0E 000000
004016 17777
0H0Z 0G0000
00000M
Douneg 000001
00M0S2 001401 -
OO40S4 000000

MACY1l 27(732)

03-SEP-76 18:01 PRGE 21

STEST WL DIV =1 -9, 7/ 832 -3 REM = 0 PS = 10

B
i

2

2

H

e
BE
L

P .ﬂ
2+l

-
#10,PSW
R

§§5ﬁ3§%§§uarsf

;ISPS = 10

;PS IS WRONG

;IS QUOTIENT = -3
;QUOTIENT IS WRONG
; IS REMAINDER = 0
;REMAINDER IS WRONG

'TEST42 DIV 09. /82=4 REM=1 PS = 0

EBY 289 EB§ 353

33 V38 §R38
5 3 s’nﬁn

P
2

0% NIGH ORDER WITH O
1100 0
;:SAVE PS

;ISPS=0

;PS IS WRONG

;1S QUOTIENT = 4
;QUOTIENT IS WRONG

;IS REMAINDER = |
;REMAINDER IS WRONG




MAINDEC-11-DCKBL-A DIV TEST  MACY1l 27(732) 03-SEP-76 18:01 PAGE
OCKBLA.P1!

iR ECYITEE [EN. O e
Eig I8 P
ig1vioe B 2

000002 DIV

0007 013767 177776 MOV aés PSH

E“E ﬁ 000010 00SS12 ga ' *g.rsu ;1S PS = 10
T ;PS IS WRONG
? u;-o“.xa ;IS QUOTIENT = -4
u.? * sQUOTIENT IS WRONG
? 7" Gty : 1S REMAINDER = -1
u? 3 :REMAINDER IS WRONG

STESTYY DIV 09. /8-2=-4 REM=1 PS = 10

OOM13M 01070 SCOPE
Ak iy R
1 X2+l
1 1 DIV g2
O0MIS2 013767 177776 005442 MOV 3PS, Psu
guo ﬁ 000010 O0OS43Y4 &n aig,rsa .x.-. PS = 10
o0 HL : :PS IS WRONG
El; o-“-:,za ;1S QUOTIENT = -4
T : sQUOTIENT IS WRONG
gp oh:eu ;1S REMAINDER = |

u? : ;REMAINDER IS WRONG
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jTESTYS DIV 02/ 8320 REN=2 PS =Y

DIV
MOV

"y

o
&

HL

33 e

aebs, .
mPSl ;ISPS= 4
;PS IS WRONG
02‘%2 ;IS QUOTIENT = 0
;QUOTIENT IS WRONG
l&ﬂ*l ;IS REMAINDER = 2

;REMAINDER IS WRONG

'TEST 46 DIV 02/ 8-3=0 REN=2 PS = 4
’

e oy o o
B Pl % e O
e gy &
004326 (022702 000000 cHP
e i
gEe B L

: OF DIV
51'.% HIGH o&n NITH O
; NITH 2
: BY »-

o AR

ohrsa sISPS = Y4
: :PS IS MRONG
0,12 s 1S QUOTIENT = 0

; sQUOTIENT IS WRONG
02,1241 : 1S REMAINDER = 2

;REMAINDER IS WRONG




02
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OCKBLA.P11

g‘TEST'W DIV -1 -2/ 8330 REM=3 -2 PSsz ¥
; R

uuug 10701 SCOPE
1 177777 MOV ng. ugu -1
i i
1 1 00S23C asPs, PS :
m 00000M 00S222 P ?‘:‘ ;ISPS= 4
HL :PS IS WRONG

004404 000000 cHP 80, %2 : 1S QUOTIENT = 0
m-nig 4Q BE .+
0044 HL sQUOTIENT IS WRONG

Y 2703 17777%% &u; o;s,xzu ;1S REMAINDER = -2
00¥422 000000 HLT ] ;REMAINDER IS WRONG

:TESTSO DIV -1 -1 /8l =-1 REN=0 PS = 10

Oz 012708 AoV -
1 177777 MOV 8-1,% uxm u m -1
77777 n?v 8-1%2+1
&nm DIV 81, %
177776 005152 MOV 38Ps, Psu
000010 O0O0SIYY CNPB  810,PSH .xs PS = 10
1401 BEQ .4
HLT :PS IS WRONG
% X gr l;l'.xa s 1S QUOTIENT = -1
u.? ’ sQUOTIENT IS WRONG
g:r agﬁxzu ;1S REMAINDER = O

HL ' ;REMAINDER IS WRONG
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jTESTSL DIV 00/ 8l =0 REN=0 PS=H
’

ﬁﬁiﬁg@.&w

™, PSH ;ISPS= 4

;PS IS WRONG

;IS QUOTIENT = 0

;QUOTIENT IS WRONG

7241 ;IS REMAINDER = 0
;REMAINDER IS WRONG

288

—

R

+

&oq

3 583 78
+8
R

BERE
g2
-
A

&9 4

=

;TEST 52 DIV -1 125252 / 82 = 152525 REM = 0 PS = 10

SN piEE

1 SCOPE : OF DIV '
15708 |2toes RV a1, L0008 Lou ORDER MiT 125252
126252 MOV 1 2+l L NITH 1
071227 000002 DIV 82, % :DIVIDE BY 82
013767 177776 00S016 MOV 3sPS, PSH ;snvé
% 000010 00S010 g:n oig.rsu ;IS PS = 10
HL 3 :PS IS WRONG
00461 15252¢ cHP 8152525, %2 :1S QUOTIENT = 152525
SeTan; BE v 4
mu"z% HL sQUOTIENT IS WRONG
Q04628 022703 000000 % ,ngau , : 1S REMAINDER = 0
004634 000000 HLT :REMAINDER IS WRONG




MAINDEC-11-DCKBL-A DIV TEST
DCKBLA.P11

HEHI

554 S 4 s

MACY1l 27(732) 03-SEP-76 18:01 PRGE 26

004662
004654

STEST 53 DIV 052525 / 82 = 25252 REM =1 PS = 0
]

y 42+1

ashs, PsW

-+

#252se, 72
-

81,2+
-+

;ISPS=0

sPS 1S WRONG

;1S QUOTIENT = 25252
;QUOTIENT IS WRONG
;1S REMAINDER = 1
;REMAINDER IS WRONG

'TESTS4 DIV -1 -1/ 81=1 REMN=0 PS=0

SCOPE
MOV

DIV

+8 STTT

b

=

15

8 @

3

]

—

-TEST OF DIVIDE
HIG'I ORDER WITH -1

bﬁ%% HITH -1

;ISPS=0

;PS IS WRONG

;IS QUOTIENT = |
;QUOTIENT IS WRONG
; IS REMRINDER = 0
;REMAINDER IS WRONG
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DCKBLA.P11

sTEST S5 DIV 25253 0 / 8125252 = 100000 REM s 0 PS s 10

o B

ga gg.rsu ;IS PS = 10

H ;PS IS WRONG

E' o@mo.ae ;IS QUOTIENT = 100000
n.? 2 ;QUOTIENT IS WRONG

ﬁ 000000 g? &ﬁﬂ ;IS REMAINDER = 0

L 8 ;REMAINDER IS WRONG

TEST Sb DIV 25263 | / 8125252 = 100000 REM = 1 PS = 10

BE. [ m B
A

000010 004520 gn ?ig.rsu ;IS PS = 10
H ;PS IS WRONG
gr 1100000, %2 ;1S QUOTIENT = 100000
nﬁ : sQUOTIENT IS WRONG
gv 'h”z" ;1S REMAINDER = |
u.? ; ;REMAINDER IS WRONG




MAINEC_LL-0CKBL-A DIV TEST  MACYLL 27(732) 03-SEP-76 18:01 PRGE 28

®ewe 9o

TEST S7 DIV 37777 77777 / 877777 s 77777
SCOPE

i o @MM

g! 04 | ;ISPS=0

H . 3PS 1S WRONG
ge wmR " “:18 QUOTIENT = 77777
u? g sQUOTIENT IS WRONG
ge 77776, %241 ;IS REMAINDER = 7777
u? ; ;REMAINDER IS WRONG

s TEST 60 DIV 0 100000 + 42 = 40000 REM =0 PS =0

P e

auﬁs P
gn .A sISPS=0
H sPS IS WRONG
&rr #4000, %2 ;IS QUOTIENT = 40000
H ; sQUOTIENT IS WRONG
&n -gqxax ;1S REMAINDER = 0
H sREMAINDER IS WRONG




wc;ﬁm-a DIV TEST  MACYll 27(732) (03-SEP-76 18:01 PRGE 29

TEST 61 DIV 0 100001 » %2 = Y0000 REM =1 PS=0

o0 9o 9o

3 OF D
ﬁ %‘ 9&31 %241 2%’? Wit 180001
00314 :
000000 (004306 gee ;1S PS = 0
W7 ;PS IS WRONG
040000 E' #40000, %@ ;1S QUOTIENT = 40000
rt? o ;QUOTIENT IS WRONG
000001 oP el ;1S REMAINDER = 1
n.? ; ;REMAINDER IS WRONG
{TEST 62 DIV 20000 37776 / 877777 = 40000 FEM = 77776 FS = 0
;TEST OF DIV
o gEps, i Mo o
% 004236 %3 5""7 g‘ -M‘%’
000000 (004230 gPe 90, P ;ISPS = 0
AL 3 sPS IS WRONG
040000 CP  §M0000,%@ :1S QUOTIENT = 40000
E? s ;QUOTIENT IS WRONG
07777

ozm.xzu ;1S REMAINDER = 77776
AL : :REMAINDER IS WRONG




——— e ——— | ——— < —

MAINDEC-11-DCKBL-A DIV TEST  MACYll 27(732) 03-SEP-76 18:01 PRGE 30
DCKBLA.PLL

SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHHHH
s TEST 63 DIV 177777 77777 7/ 8177776 = Y0000 REM = 177777 PS = 0
SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

i e e
cg‘rsu

E” ;ISPS=0
W ! sPS IS WROMG

g! #4000, 2 ;IS QUOTIENT = 40000
u? ; sQUOTIENT IS MRONG
g? §77777,5241 ;1S REMINOER = 177777
u? . sREMAINDER IS WROMNG

IHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHHHHHHHHHEHHHHH
TEST 64 DIV 157777 100001 # #100000 = 40000 REM = 100001 PS = 0
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

- [

;ISPS=0
: ;PS 1S WRONG
#4000, 2 ;1S QUOTIENT = 40000
: ;QUOTIENT IS HRONG
$100001, X241 ;1S REMAINDER = 100001
Y ;REMAINDER IS WRONG




- 2

m;ﬁm-a DIV TEST MACYll 27(732) 03-SEP-76 18:01 PRGE 31

952525 = | REM =

@&@w&z

;ISPS=0

;PS IS WRONG

;IS QUOTIENT = |
;QUOTIENT IS WRONG
;1S REMAINDER = 0
;REMAINDER IS WRONG

STEST 65 DIV 0 52525 /

;TEST 66 DIV 0 52524 7 852525 = 0 REM = 52524 PS = 4

T

o, PSH ;ISPS= Y
F%?" X ;PS IS MRONG

ng‘:z s1S QUOTIENT = 0
b L :QUOTIENT IS WRONG

{
? #52SaM, 1@+l ;IS REMAINDER = S2Sa4
I'I.? ;REMAINDER IS WRONG




e e e e - —

w;ﬂm-a DIV TEST mgm 27(732) 03-SEP-76 18:01 PWGE 3@

TEST 67 DIV 00/ 0125252 s 0 REN = 0 PS =
#

B
wn B

oy

[

o

cw
BE
H

003612 %‘v’
-l
&

cP
BE
M

8.
1

32
S 3

38 38
2

lt&&"s.
llO,Fﬁl
.
8177070, %@
R

.'“ﬂﬂ

T

;ISPS=4

;PS IS WRONG

;IS QUOTIENT = 0
;QUOTIENT IS WRONG
;IS REMAINDER = 0
;REMAINDER IS WRONG

3155170 DIV 177614 66560 / sMO3ME = 177070 REMN = 0 PS = 10

Ma@uﬂ"&"

;ISPS =10

;PS IS WRONG

;IS QUOTIENT = 177070
;QUOTIENT IS WRONG

; IS REMAINDER = 0
;REMAINDER IS WRONG




1 1

HO3

wc;ﬁm-a DIV TEST  MACYll 27(732) 03-SEP-76 18:01 PRGE 33

'TEST 71 OIV
’

v
BIC

)

o e
BIY
81t
&0

HL

Q77777 » 80 = DUMMY REM s DUMMY PS = 3

m& A

;
X241 :
PSH 4
81y, Psi !
og‘l'su ;IS PS =3
x ;PS IS WRONG

e

.li:‘FSI

STEST 72 DIV 77777 177777 7 82 = DUMMY REM = DUMMY PS = 2

amﬂ %241 E '{gﬁ Rt

;ISPS=2
;PS IS WRONG

ST S S




103

w;ﬁm-n DIV TEST MACYll 27(732) (03-SEP-76 18:01 PAGE M

TEST73 DIV 04 /8222 REN=O PS =0
[

RV 80,0 160 Myo NITH O
w a:ﬁ‘l ; & ll!*ﬂ 4
MOV  3sPS,PSM :
#0,PSH ;ISPS =0
g‘ o ;PS IS WRONG
2,74 s 1S QUOTIENT = 2
% - ;QUOTIENT IS WRONG
(;‘n 094:0»1 ;1S REMAINOER = 0
He ) ;REMAINDER IS WRONG

:TEST7 DIV 09. /83=3 REN=0 PS=0

MOV 3PS, PSM

(R

P54 ;ISPS=0
%’. o ;PS IS WRONG
g lg‘ﬂ ;IS QUOTIENT = 3
n.? : ;QUOTIENT IS WRONG
cP -gﬁmx ;1S REMAINDER = 0
ﬁ « ;REMAINDER IS WRONG
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w;ﬁm-n DIV TEST  MACYll 27(732) 03-SEP-76 18:01 PAGE 35

'TEST 75 OIV -1 4/ 82=-2 REN=0 PS = 10

s UTR 1o RV el 6% NIGH ORGER MITH -1
VX 101000 3 2
MOV JaPs,PSH iSAVE PS
810,PSH ;ISPS = 10
g‘? 4 ;PS IS WRONG
Er 02,74 ;IS QUOTIENT = -2
u.? g sQUOTIENT IS WRONG
gr 0, 41 : 1S REMAINDER = 0
u.? : sREMAINDER IS WRONG

;TEST 76 DIV -1 -9. /43 = -3 REM =0 PS = 10

S S R e,
; “?R WITH -9.

;1
003212 ﬁ a':n’ﬁs.m :
003204 oFs  e10,PsH ;1S PS = 10
W ;PS IS WRONG
or 3 s IS QUOTIENT = -3
L ;QUOTIENT IS WRONG
oP 80,4 ;1S REMAINDER = 0

HL ;REMAINDER IS WRONG




%C;{ i-m.-ﬂ DIV TEST

ﬁ m m " 'l:{
—h 8-=2
3 3

MACY1l 27(732) 03-SEP-76 18:01 PRGE 36

{TEST 77 DIV 09. /924 REN =1 PS50
]

a!":-m
DIV 82, %4
003134 MOV 35S, PSH
003126 CMPB PSW
BE .+
WL
ge ™
HLT
81, X441
5

LB Mgl i
e

’
P
;ISPS=10

;PS IS WRONG

;IS QUOTIENT = 4
;QUOTIENT IS WRONG
; IS REMAINDER = |
;REMAINDER IS WRONG

;TEST 100 DIV -1 -9, /82 =-4 REM = -1 PS = 10

B
s B

T

1,

I

o
b

¥

™
. g A441
PSH

i

070 RIGH ORDER WITH =1
: b ORDER WITH -9.

BE .+

AL

o S e X

BE .+

WL

gr 8-1,%4+41
Qe .

WLT

;PS IS WRONG

; IS QUOTIENT = -4
;QUOTIENT IS WRONG
; IS REMAINDER = -1
;REMAINCER IS WRONG




MAINDEC-11-DCKBL-A DIV TEST  MACYll 27(732) 03-SEP-76 18:01 PRGE 37
DCKBLA.P11

{TEST 101 DIV 09. / #-2 s -4 REN = 1 PS = 10
)

OF DIV
000000 ROV 80, 530 HioH MITH 0
% BV 85,1 i WITH 9.
1 003000 MOV 339,& ;
000010 002772 F ow,rsu ;1S PS = 10
S sPS IS WRONG
ﬁ 17774 gr -4, x4 :1S QUOTIENT = -4
Q .
T :QUOTIENT IS WRONG
@ 000001 E’ '54”” : 1S REMAINDER = |
19 . :REMAINDER IS KWRONG
: 'TEST 102 DIV 02/ 43=0 REN=2 PS = 4
SCOPE : OF DIV
w 000000 MOV 80, 4 5{% HIGH o&w NITH O
3 295003 M g ik HITH 2
DIV ™ :DIV
006672 177776 002722 MOV asPs, PSu :SAVE PS
m 000004 002714 %s o:‘psu sISPS= 4
006710 T 3 :PS IS WRONG
% 000000 Ev n&m : 1S QUOTIENT = 0
y & sQUOTIENT IS WRONG
006722 000002 % ngqu : 1S REMAINDER = 2
;3 HLT y :REMAINDER IS WRONG




03

w;ﬁm-n DIV TEST MACYll 27(732) 03-SEP-76 18:01 PAGE 38

8 353 6 a2e
e B B

0070 1

—r—
§3§S
o=

i 349

N Sy Y

=

&

=

IR RE:

{TEST 103 DIV 02/ #-320 REW=2 PS s ¥
’

g
i

"y

HL

{
&

HL

;ISPS = Y

;PS IS WRONG

;1S QUOTIENT = 0
;QUOTIENT IS WRONG
; IS REMAINDER = 2
;REMAINDER IS WRONG

'TEST 104 DIV -1 -2 7/ 83=0 REM= -2 PS = 4

=3

o
-
<

ZBY EBY FRY

.- "“'m
R
mPSH

.'“%‘i

-2, 7441
.

R

;ISPS=

;PS IS WRONG

;IS QUOTIENT = 0
;QUOTIENT IS WRONG
; IS REMAINDER = -2
;REMAINDER IS WRONG




r— S —

MAINDEC-11-DCKBL-A DIV TEST
DCKBLA.P11

TR
B
E;i 000010
\77777
e g
1% B qooomm
s fie e
007170 00000M
007208 |
% 000000
ﬁg 000000

MACYL1l 27(732)

002510

03-SEP-76 18:01 PAGE 39

jTEST 105 DIV -1 -1/ 81 = -1 REN =0 PS = 10

—

MOV
DIV
MOV

"y

HLT
B0
Ht

&

thm, RS BekE o
=1, %441 ik WITH -1
81,74 *DIVIDE BY 81

.igvm ;IS PS =10

' sPS IS WRONG

0;}'.%4 ;IS QUOTIENT = -1

: sQUOTIENT IS WRONG
10,0441 s 1S REMAINDER = 0

;REMAINDER IS WRONG

'TEST 106 OIV 00/ 81 =0 REN =0 PS =4

g =

2 E

3 E

F S

$680 HIH ORDER WITH 0

80, %4
80,2441 géﬁ*?moaen WITH O
J#PS, PSK :
¥, Psu ;ISPS =4
;PS IS WRONG
80,74 ;1S QUOTIENT = 0
;QUOTIENT IS WRONG
80, %441 ;1S REMAINDER = 0

;REMAINDER IS WRONG




P e

BO4

w;ﬂm-a DIV TEST MACYLl 27(732) (03-SEP-76 18:01 PRGE 40

-

000010 002346

$TEST 107 DIV -1 125252 / 82 = 152525 REM = 0 PS = 10
’

oF DI

L ﬁ@&;ﬁ*&e |
séds.rsu
810,Ps ;1S PS = 10
: sPS IS WRONG
152525, x4 ;IS QUOTIENT = 152525

_ jQUOTIENT IS WRONG
u’:‘m#x ;1S REMAINDER = 0

;REMAINDER IS WRONG

EBY £8Q FBg 253

sTEST 110 DIV 052525 / a2 = 25252 REM =1 PS = 0
H

R

g.% BT o

007 308 7 L ’ml

i ﬁ 002276 x 885, Psu

0073 000000 002270 oPs  e0,Psu sISPS =0

Iirger, .A ’

o ﬁ ML sPS IS HRONG
msase‘ 25252, 4 : 1S QUOTIENT = 25252

;QUOTIENT IS WRONG
;1S REMRINDER = |
;REMRINDER IS WRONG

8 R
'é




p—— e — e

w;ﬁm-e DIV TEST  MACYll 27(732) 03-SEP-76 18:01 PAGE 41

TEST 111 DIV -l ~1/70-1=2] REN=s0 PS=0

1,54 : ’&% MY -1
VS : Byoer w
aJs.rsu ;
002212 r g‘rsu ;I1SPS=0
L ;PS IS MRONG
r hﬂ ;IS QUOTIENT = |
u.? ; ;QUOTIENT IS WRONG
% I’i‘x‘m ;1S REMAINDER = 0
i ;REMAINDER IS WRONG

STEST 112 DIV 25253 0 / 8125252 = 100000 REM = 0 PS = 10

e Qi o - E@éﬁ?ﬁ o
B EG R aere RS RS

7iek 000010 00213 ;1S PS = 10

77C ﬁ ;PS IS WRONG

8100000, 4 ;1S QUOTIENT = 100000
sQUOTIENT IS MRONG

80, X441 ;1S REMAINDER = 0
;REMAINDER IS WRONG

£BY 589 EBY 25930
35
2




pom s ——— et —

w-um-a DIV TEST
P11

g

#100000, x4
.

3PS, PA

877777 , %M
.

877776, %4+ 1
.9

r5q 289 28y 3583

04

MRCY1l 27(732) 03-SEP-76 18:01 PRGE 42

TEST 113 DIV 25253 1 ~» 8125252 = 100000 REM = 1 PS = 10

e B

;IS PS = 10

;PS IS WRONG

;1S QUOTIENT = 100000
;QUOTIENT IS WRONG
;IS REMAINDER = |
;REMAINDER IS WRONG

§ SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHBHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
;TEST 11N DIV 37777 77777 7+ 877777 = 77777 REN = 77776 PS = 0
3 SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHEHH

:

;IS QUOTIENT = 77777
;QUOTIENT IS WRONG
;IS REMAINDER = 7777%
;REMAINDER IS WRONG




w;xim-a DIV TEST MACYll 27(732) 03-SEP-76 18:01 PRGE 43

TES?I!! DIV 0 100000 » 82 = Y0000 REN =0 PSs=0
SCOPE

E Do (R
w 001730 RV s psu : »
000000 001722 80, PSH ;ISPS=0
| | g‘ : ;PS IS MRONG
040000 ge  #40000,x ;1S QUOTIENT = 40000
a? ! ;QUOTIENT IS WHRONG
000000 = SR ;1S REMAINDER = 0
u’ g ;REMAINDER IS WRONG

[

*TEST 116 DIV 0 100001 / 62 = 40000 REM = 1 PS = 0

RV a0 5@ e
s100001,54¢1 uﬂ'u 1&1
i :
cg‘r;u :xs PS=0
r%' : ;PS IS WRONG
40000, x4 ;IS QUOTIENT = 40000
g ’ ;QUOTIENT IS WMRONG
% o1, 01 ;1S REMAINOER = |
% A ;REMAINDER IS WRONG

——————




o o o e —

w;ﬂm-a DIV TEST MACYll 27(732) (03-SEP-76 18:01 PRGE W

3 SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHHHH
;TESYII? DIV 20000 37776 / 877777 = Y0000 REN = 77776 PS = 0
3 SHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

EBm.. @ B0~

l" 0COD00 001566 w .“Fﬂ ;ISPS=0
ll( 38 IS WRONG
m :".j : ON0000 ? W.m ;IS QUOTIENT = 40000
0000 ? ; ;wm IS WRONG
22708 07777% 877776, X441 ;1S REMAINDER = 7777%
ﬁﬁ ; % = ;REMAINDER IS MRONG

s FREHLE FARETRECBEENLERS BB BINBHLEE VNIRRT ANAZLDRRFR D ER R R LR RSB ER

:TEST 120 DIV 177777 77777 /7 8177776 = Y0000 REM = 177777 PS = 0

F2EEERECRERE TR AR LR RS FR BN BB R TR R B L HE 4 22 AR AR R IH LR R AP RS R R E AR
SCOPE

. b e S

ﬁ 000000 001510 g' '“Pﬂl ;ISPS=0

e :PS IS WROMNG
§‘18 ig gv v&lm.m ;IS QUOTIENT = 40000
10 X n.? ) sQUOTIENT IS WRONG
10 CP 81777775841 ;1S REMAINDER = 177777
101 014 BE A
101 'y ;REMAINDER IS WRONG




e —— s

pr— — — e —

\

w;ﬁm-a DIV TEST MACYll 27(732) 03-SEP-76 10:01 PRGE 4§

; TEST 121 DIV
’

AV
&0

H

£

H

&

fr:st 122 DIV

w%%m

r 000000 001354

Ee g g'

j227C C'
E‘E att i
10262 022705 000000 cP
e g &

0000L 7 § s Y0000 REM = 100001 PS =
& ™
!S PS=0
:PS IS WRONG
vgmn.m ;1S QUOTIENT = 400D
" - sQUOTIENT IS WRONG
og‘lmx.mx ;1S REMAINDER = 100001

; REMAINDER IS WRONG

0S2SeS s 52525 =1 REN=0 PS=0

F B g

ﬂ PSH ;ISPS=0
;PS IS WRONG
?hﬂ ;IS QUOTIENT = |
;QUOTIENT IS WRONG
'“mﬂ ; IS REMAINDER = 0

;REMAINDER IS WRONG




e
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%c;ﬁm-n DIV TEST  MACYLl 27(732) 03-SEP-76 18:01 PAGE Y%

4

jTEST 123 DIV 0 S2524 / 852525 = 0 REM = 52524 PS = 4
L

CHR. [ e e

g s 13 o

? .;‘%‘0 ;1S QUOTIENT = 0

n.? 3 ;QUOTIENT IS MRONG
Er s‘ssa,mox ;IS REMAINDER = 52524
u.? = ;REMAINDER IS MRONG

sTEST 124 DIV 00/ 8125252 =0 REM =0 PS = 4

T e R

P : ;ISPS=z Y

M ;PS IS WRONG

gr 0,4 ;1S QUOTIENT = 0
n.’ : ;QUOTIENT IS WROMG
gw 0, 41 ;1S REMAINDER = 0

n} : ;REMAINDER IS WRONG




w-um-n DIV TEST
P11

i o

e

R

1 177070
fiins
NN 000000
fiE B
10, 0701
o

o000 O000DDD
P et

e )

MACYll 27(732)

sTESY

001150

000010 001142

104

03-SEP-76 18:01 PRGE Y7

125 DIV 177614 66560 /

B uminn
i ERF

810, PSH
g

8177070, 4
g %
&n?n &wz
.

= s 2
OF D

3 8y

;ISPS = 10

;PS IS WRONG

;IS QUOTIENT = 177070

;QUOTIENT IS WRONG

;IS REMAINDER = 0

;REMAINDER IS WRONG

gmsna DIV 077777 7/ 80 = DUMTY REN = DUMYY PS = 3

001064

000003 0010S6

SCOPE
b4 ]
% 777, 0w
o S N
83, PSH
g‘ %

o

;ISPS =3
;PS IS WRONG




JOM

%ﬁ;ﬁm-ﬂ DIV TEST  MACYll 27(732) 03-SEP-76 18:01 PAGE 48

AR ™ 3B Y anew

010614 012702 MOV %7:%

BiteN QiE7N G1ieS oV

TEST 130 DIV 0 52525 / Sl = 25252 REM =1 PS = 0

E 1 v 1 788 = ' '
L S T L R
ek e B2 mim m R MRS
000002

; TEST OF DIVIDE
B0 [T
1 ;DIVIDE BY Si
3sbs, PSu H
.“PSH ;ISPS=0
;PS IS WRONG
OEES?.%IJ ;IS QUOTIENT = 25252
;QUOTIENT IS WRONG
?hm#l ;1S REMAINDER = 1

;REMAINDER IS5 WRONG




%C;} {m-a DIV TEST

B
=
o

o

f

Oitoo 81577
gLalg ﬁ
011028

011022 022700 025252
011026 001401
011030 000000 =
g g oo
01104 000000

MACY1l 27(732) 03-SEP-76 18:01

KO4

jTEST 131 DIV 0 52525 / 352 = 25262 REM = | PS = 0
’

%s
&

M

B0

HT

152535, 101
S s

..“PSI

125252, 10

#
W

;ISPS=0

;PS IS WRONG

; IS QUOTIENT = 25252
;QUOTIENT IS WRONG
;IS REMAINDER = |
;REMAINDER IS WRONG

STEST 132 DIV 052525 / 9851 = 25252 REM =1 PS = 0

RV T 0.0

gog isésas %0+1
000612 nsv ﬂ:&
000604 CHP8  80,PSH

BE .+

HL

cHP 825252, %0

BEQ 44

HLT

81,%0+1
E:ﬁ "

ol
;QIVIDE BY 3851

;I1ISPS=0

;PS IS WRONG

; IS QUOTIENT = 2S2S2
;QUOTIENT IS WRONG
;IS REMAINDER = 1
;REMAINDER IS WRONG
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mgc;ﬁm-a DIV TEST MACYll 27(732) 03-SEP-76 18:01 PAGE SO

$TEST 133 DIV 0 525% / 1@ = 25252 REN = | PS = 0
’

: v
188 B e THRD BB won o
11 ,%X0+1 ‘3 NI
11054 DIV ;DIVIDE BY
011056 17777% MOV 3PS, PSH :
ﬁ;xﬁ m 000000 000530 E" C“PSH iISPS=0
i HL 3 :PS IS WRONG
011076 022700 025252 cHP 825252, %0 ;1S QUOTIENT = 25262
111 BE .+
guxg M HL , ;:QUOTIENT IS WRONG
nmma, 022701 000001 cHP '54"“" : 1S REMAINDER = 1
Bﬂﬁn 8&'86 E? : ;REMAINDER IS WRONG
.n:sr 139 DIV 052525 7 (3)+ = 25262 REM =1 PS = 0
1)
g % B0 IR T
111 %0+1 : ﬁ NI
ug DIV (3)+, 20 ;lSvnhvuo
011132 MOV 8PS, PSW :SAVE PS
s B el
11150 HT 5 :PS IS WRONG
§m§ 22700 025252 % uaj&.m : IS QUOTIENT = 25252
11160 0O000OC HLT il sQUOTIENT IS WRONG
oiﬂg m 000001 &9 lhmﬂ : 1S REMAINDER = 1
Sm rt? ? :REMAINDER IS WRONG




MO4

%C;H-m-ﬂ DIV TEST  MACY1l 27(732) 03-SEP-76 18:01 PARGE SI

TEST 135 DIV 0 52S2S 7 -(3) = 25252 REM =1 PS =0

iR o I B o
1 i 3 H NITH
Eu %0+l ; ut‘u
11204 DIV  ~( ),& :DIVIDE BY -(3)
011206 MOV 3PS, :
11214 80, PSH :ISPS=0
§u ’ goi .+ . ’
1 R sPS IS WRONG
11 cHP 825252, %0 ;IS QUOTIENT = 26262
11 zg .44
11 HL ;QUOTIENT IS WRONG
01123% (022701 000001 cHP 81,%0+1 ;1S REMAINDER = 1
sugﬁ x? 4
11 HL sREMAINDER IS WRONG
PTEST 13 DIV 052525 / 2(4) = 25252 REM = 1 PS = O
1]
31 81 SCOPE : OF DIV
11 1 MOV :LORD MIGH NITH O
oﬁg - 8?8 ) -y *BIVIDE BY 2(%) WEES S
guam 5% 1 000330 MOV Svs: SSAVE -
oug 000000 000322 CNPB  80,PSH :ISPS =0
011 1401 zg .+
011302 000000 HL sPS IS WRONG
011304 12525¢ CMP 825252, %0 : IS QUOTIENT = 25252
011310 001401 BEQ 4
011312 000000 HLT ;QUOTIENT IS WRONG
11314 1 000001 CMP 81,%0+1 :1S REMAINDER = 1
i3k BTeal BEa .4 . y
011322 000000 HLT :REMAINDER IS WRONG




S ——

INDEC-11
P11

859 i bbb ok
AR

000 00000
B2 pt foms s pmn s s B

bt st s P Pt e
et el el el el el al o

2R

B B B o
:

L£LL
[eoyweten
oOL£D

o B s e s P it s == bt P s Pa
[y =Y Gt et Lo == b ot Pt Gt et et

o fe 0

-DCKBL-A DIV TEST

010701

s

1

177776

[P A

000001

MACY1l 27(732)
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